S2: Unpaired t test for base composition for Pisum sativum and Pisum fulvum
Unpaired t test for base composition for Pisum sativum
1. unpaired t-test between A & T content:  t=2.8037, 142 df, p<0.0029; ** Significant at 1%
    Mean_x (%): 30.13; Mean_y (%): 32.5
 2. unpaired t-test between A & G content:  t=13.9192, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 30.13; Mean_y (%): 19.9
 3. unpaired t-test between A & C content:  t=18.9376, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 30.13; Mean_y (%): 17.36
 4. unpaired t-test  between T & G content:  t=17.2051, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 32.57; Mean_y (%): 19.95
 5. unpaired t-test  between T & C content:  t=22.4787, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 32.57; Mean_y (%): 17.36
 6. unpaired t-test  between G & C content:  t=5.3386, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 19.95; Mean_y (%): 17.36
7. unpaired t-test  between A3 & T3 content:  t=6.4292, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.51; Mean_y (%): 39.42
 8. unpaired t-test  between A3 & G3 content:  t=24.9807, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.51; Mean_y (%): 14.47
 9. unpaired t-test  between A3 & C3 content:  t=27.6303, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.51; Mean_y (%): 12.60
 10. unpaired t-test  between T3 & G3 content:  t=31.6803, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 39.42; Mean_y (%): 14.47
 11. unpaired t-test  between T3 & C3 content:  t=34.2826, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 39.42; Mean_y (%): 12.60
 12. unpaired t-test  between G3 & C3 content:  t=3.1701, 142 df, p<0.0009; ** Significant at 1%
    Mean_x (%): 14.47; Mean_y (%): 12.60

 13. unpaired t-test  between GC & GC1 content:  t=8.4281, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 37.30; Mean_y (%): 45.52
 14. unpaired t-test  between GC & GC2 content:  t=2.1843, 142 df, p<0.0153; * Significant at 5%
    Mean_x (%): 37.30; Mean_y (%): 39.33
 15. unpaired t-test  between GC & GC3 content:  t=14.5119, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 37.30; Mean_y (%): 27.06
 16. unpaired t-test  between AT & AT1 content:  t=8.4288, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.70; Mean_y (%): 54.48
 17. unpaired t-test  between AT & AT2 content:  t=2.1845, 142 df, p<0.0153; * Significant at 5%
    Mean_x (%): 62.70; Mean_y (%): 60.67
 18. unpaired t-test  between AT & AT3 content:  t=14.5142, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.70; Mean_y (%): 72.94
 19. unpaired t-test  between Purine & Pyrimidine:  t=0.1797, 142 df, p<0.4288; Non-Significant at 5% & 1%
    Mean_x (%): 50.08; Mean_y (%): 49.92
 20. unpaired t-test  between AT & GC:  t=35.3374, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.70; Mean_y (%): 37.30
Unpaired t test for base composition for Pisum fulvum
1. unpaired t-test between A & T content:  t=2.8034, 142 df, p<0.0029; ** Significant at 1%
    Mean_x (%): 30.14; Mean_y (%): 32.60
 2. unpaired t-test between A & G content:  t=13.9344, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 30.14; Mean_y (%): 19.89
 3. unpaired t-test between A & C content:  t=18.7363, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 30.14; Mean_y (%): 17.37
 4. unpaired t-test  between T & G content:  t=17.2026, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 32.60; Mean_y (%): 19.89
 5. unpaired t-test  between T & C content:  t=22.2312, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 32.60; Mean_y (%): 17.37


 6. unpaired t-test  between G & C content:  t=5.1398, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 19.89; Mean_y (%): 17.37
 7. unpaired t-test  between A3 & T3 content:  t=6.6329, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.46; Mean_y (%): 39.5
 8. unpaired t-test  between A3 & G3 content:  t=25.0967, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.46; Mean_y (%): 14.33
 9. unpaired t-test  between A3 & C3 content:  t=27.2916, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 33.46; Mean_y (%): 12.69
 10. unpaired t-test  between T3 & G3 content:  t=32.4202, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 39.52; Mean_y (%): 14.33
 11. unpaired t-test  between T3 & C3 content:  t=34.5837, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 39.52; Mean_y (%): 12.69
 12. unpaired t-test  between G3 & C3 content:  t=2.7793, 142 df, p<0.0031; ** Significant at 1%
    Mean_x (%): 14.33; Mean_y (%): 12.69
13. unpaired t-test  between GC & GC1 content:  t=8.3090, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 37.26; Mean_y (%): 45.47
 14. unpaired t-test  between GC & GC2 content:  t=2.1892, 142 df, p<0.0151; * Significant at 5%
    Mean_x (%): 37.26; Mean_y (%): 39.3
 15. unpaired t-test  between GC & GC3 content:  t=14.2776, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 37.26; Mean_y (%): 27.02
 16. unpaired t-test  between AT & AT1 content:  t=8.3090, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.74; Mean_y (%): 54.5
 17. unpaired t-test  between AT & AT2 content:  t=2.1892, 142 df, p<0.0151; * Significant at 5%
    Mean_x (%): 62.74; Mean_y (%): 60.70


 18. unpaired t-test  between AT & AT3 content:  t=14.2776, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.74; Mean_y (%): 72.98
 19. unpaired t-test  between Purine & Pyrimidine:  t=0.0891, 142 df, p<0.4646; Non-Significant at 5% & 1%
    Mean_x (%): 50.04; Mean_y (%): 49.9
 20. unpaired t-test  between AT & GC:  t=34.7670, 142 df, p<0.0001; ** Significant at 1%
    Mean_x (%): 62.74; Mean_y (%): 37.26
